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Intro

Today we will 7”v1a learn ©"v 97 of m2173 N>
Some of the topics we will learn about include.

A way that a wife is able to arrange that her properties
should be Y25 p»17 j¥Rw 0’031 so that they remain fully
hers and don't become 351 033

The 7 for what is done with items that a wife inherits
while she is married

So that z‘@ remain W hery
and don't become /z/ﬁ ‘as)

2129 PIT J1IRW D0

Items that a wife

INHERITS

while she is married

The y7 of what is done in a case where a wife owns old
slaves or old trees that if they die the wife will lose her 17p
and the husband will lose his mo.

151 7023 are those properties - whether PH050R IR YRR,
land or movable objects, which are NOT assessed and

written into the 721n2. They remain in her possession, she O LD O LD
owns the 913, and the husband merely has the rights to its

m9, its produce or profits. S L AVE S TRE E S

Z% ?‘/my die the w%& will lose W/o/o
and the husband will lose hisy pyr0

Dedicated By: DafHachaim.org Kesubos 79- 1




Dedicated By:

By 7 N

So let'sreview ...

Our 97 begins by teaching that a wife can prevent her
properties from becoming 151 "0 by writing a 0’00 oW
that she is giving away ALL of her properties to another
person. In this way she accomplishes 2 things:

1.
The properties do not become 3151 *03), because they are
now

525 DWIT JPRY D03

2.

These properties also do not become the property of the
recipient. Rather, she still retains ownership, because we
say that a person will not give away ALL of their o'o>3; it
was just done to prevent the husband from gaining
ownership over it.

However, if she only wrote a 005 qvw for SOME of her
properties, the recipient can claim ownership of the
properties in the 70w, because a person sometimes does
give away part of their o’o3..

In order to avoid this, the wife must write in the 0w
AXIRWI DY

The 70w is only effective if she later approves of it. This
way she can later say that she does not approve of it

The next mwn continues the discussion of

15127001 - Which is p5050m 18 IR, land or movable
objects - in which the 91, the principal belongs to the WK,
the wife, and the m9, the fruits or profits, belong to the
Sy3, the husband.

IV T VPRI

D903 717 1903

PO SR RIM VR 172 Y

If a wife inherits money it is not given to the husband,
because when he uses it the wife might lose the 7p.
Rather, land is bought with it and the husband gets the
myo.

Similarly,

YRIWRT D PUIIA MY

Mo 59 RIM VPP 72 np

If a wife inherits detached produce - which if eaten, will
leave no 17p - therefore, this produce is considered 17p, and
land is bought with it and the husband gets the m».
However,

YPIP DMIINHT YD

If a wife inherits land with produce attached to it;
Obviously, the land remains 151 *023, the 1 hers, the
future Mo his. However, how do we deal with the
existing produce? Are they considered j7p, and hers, or
m79, and his? There is a npnm:

DafHachaim.org

A wife can prevent her properties
from becoming 2151 'D2) by writing a

00D VW
that she’s giving her properties
to another person

She W%MMM 2 fW
1 2
The properties ALL
donotbecome  her properties:
M5 °0)
Because
?L
hey are nou the property

PYIZ Yt prazy o
) of the recipient A person

We Say @ person Sometimes
will not %«/@ away ?w%/ away
W%fw pra3) Wmﬂéﬂm P03

SOME of

her properties

They do not
become

To avoid this
she must write
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Because when he uses it

thes wifle might lise the

YRIp Ima MY
YD 99N N
BW% eaten
he will leave no /P

nae
YPp= RYManan

The 91 hers, the future D his
How do we deal with the
existing produce?
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M99 N7 7 AR PHw

MO RYI 79 X770

MY YN RIM VPP 172 P2 I

We view the produce as part of the land, and we assess the
value of the land with or without the produce. The
difference is considered j7p, from which land will be
bought which will be like all 251 033, the 9 hers, the m~o
his.

Rashi explains;

TP MImwI2 YT RYW

That which grew BEFORE she acquired it, is considered
17 when acquired. However,

MY MIMYI2 STV

That part which continues to grow after their acquisition
is considered Mo, which is entirely his.

DWIR D'0OM

DY YRIPS DN

We view the attached produce as m79, and they belong to
the husband. As Rashi explains the reasoning of the
Chachamim;

MW7 ROW DR R

112303 MO NN

15 Np YRR RIN

The Chachamim considered the attached produce m~o
since she retains the land as 17p.

The o'mon reiterate that which the Mishnah stated earlier;
oW VRIPR L PULIM

Mo HIIR RIM VRIP 172 RO

Only if a wife inherits detached produce is it considered
177, from which land is bought and the husband gets the
my.

QY2IN 2o

QY2 an
¥R
o

We view the attached
,m/muw/a@
DEI3 D73 HOE B 9
193 D) YD HMD
O PPN VNI DD

N-aria
mow Yppn 8:

PP t‘l: pM
D190 70 NV
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. The mwn concludes with an opinion that seems to be the
same as the 0'»om:
IR PYPY 127
1N©°15212 190 OPn

INR'IND YN AN PR 29
If the husband has the advantage when it enters his wife'’s
gpssessilon, he has the disadvantage when they get Aigim] y'nnw njpn 1Mo FOW njpn
ivorce
’ ’
AN 17 Y DI nnoYia2 plgl=ip b
mvsImY o AANYSINS D NN D PIA
If the husband has the disadvantage when it enters his
wife'’s possession, he has the advantage when they get 7254
divorced
= rrm’vnm Y277 NS
YPIpP2 DN Mo
Pomo raalic pIP°
"W INRYRI)
Attached fruits, when they enter the wife's po'ssesswrll, g0 nsw fafalaihiml] 1‘”” =moY9s
to the husband when harvested, because they're consid-
ered 7o, VW nnRe oW NN
Nevertheless, upon divorce, they go to the wife along with
the property to which they’re attached, since they're not The bt
ready to be harvested. Gemara later dayy
the Chachamim /Ww

The Gemgra later says that the Chachamim disagree with They goto the husband
the last point, and hold that they go to the husband when

. harvested, because they’re considered ma. when harvested

Becawse f/w?/r&

YRWTL PUDM considered pyro
oW Ino’10a
DV IR

Detached fruits, when they enter her possession, they are
hers, because these fruits are considered 7p, since she
acquired them now.

However, upon divorce, they are his, because they're
considered M9, since they were harvested while they
were married.
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The x99 proceeds with a number of related discussions:

The vpp that is bought has an order of preference - and
therefore, if the husband and wife disagree on what to buy
the order is as follows:

.RYIR, Land

2.'n3, Houses

3.°5»7, Palm trees

4.

5.

R, Fruit trees
101, Grapevines

The Gemara next defines what is considered 17p, or Mo,
in a case of a tree used for its wood:

RNY1T RH9I

25mm W

RO

If the trunk replenishes itself and grows new branches, the
wood is M9, because she is left with the trunk which is
177, since it will continue to produce.

5NN W PR

P

If the trunk will not replenish itself, the entire tree is
considered 17p, and the husband may not cut it down for
wood.

The next nwn presents 2 cases in which there is a npbm:
WM T VPRT

DIPT MNOWI 7Y 112 1993

If a wife inherits old mnow) 72, and if they die the wife
will lose her 17 and the husband will lose his m~9;

The xnp RN says

VP IO AP 10N

myo LR NI

They shall be sold to buy land, which will be hers, and he
will enjoy the mo.

IR HROM3 12 prnw 127

MIDN RS

AR T2 MW W 710N

The wife has the authority to stop her husband from
selling them, because they represent the prestige of her
father’s home.

Thevp) that is bought
has an order of preference

U the husband and wile disagree
z‘f@ar/er ‘ww/a%mz%y i Land N”-lR

Houses 2112
Palm trees "?P"f
Fruit trees 919N
Grapevines 71912

4 A tree used
% forits wood:

RNOMT XYY

WHPR N
oNn 9PN
1 R7’D

:3')/@‘/
nnaen ey 1 Yoo
=pipll
If f/my die ?%Z:/%@ will lose W/v/)

and the hush M lose his ryro

S 1 ppme 139 N19D NIN

9PN 8O Yo
1Y 30N YRR 1A MM
MAN 13 Maw PY9'D 99 N
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Similarly,

DI DION DT 112 1903

If a wife inherits old olive trees and grapevines, and if
they die the wife will lose her 17 and the husband will
lose his m9;

The xnp RN says

VPP 1A IR 1o

Mo HIR NI

They sell them and buy land, and the husband has the
rights to the mo.

MNP 2

TIOPN R

IR 112 N2V [ 191

The wife may object to her husband selling them, because
they represent the prestige of her father’s home.

The X3 qualifies;

27 R RID 27 IBR

50 AYRW 7TW1A DPDID

This np,bnn is only in a case where the trees were growing
in a field that belonged to another person. In that case the
Rpp RN holds that the wife does NOT have the authority
stop her husband from selling them, because the trees will
eventually die and there will be nothing left in terms of
PR 1’1 N32W anyway.

W nTwa IR

9PN RS 537 37

AR 1°2 N2V 190

However, if the wife also inherited the land that the trees
were growing on, the X»p Rin agrees that the wife has the
authority to stop her husband from selling them, because
even though the trees will die the land they are on will
remain to represent iR 1°1 N1w.

DafHachaim.org

anBm 2N 11 1953
=ppipll

AT 9 K?:P NiR
29mnn 85 o
I 158 YRIp 1 MM
AN 3 RaY M1'8 99N NI

The fops %ﬁﬁﬁz&

27K X1 27 NN

228 nybnn
MW NTY2Y 55y pRY DTV

SNTET ) ) R
TMONN XY 1 3BM YPIIP 171 AR

N2WY 19N AN M2 N2Y DD 0w 8
MR N2 /’
the W%@?/M&M/ m/f/wmwﬂé@w‘/w‘n?&%f
will remain ty reprmm‘ in fermy o% Dot pl anguiay.
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